20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

rE | T A I HPERT _
1 | JetE 7 R v LS 530122%F*kH%%%0003 64 s
2 | ewdEiE FRL o % 53012 **H**EE%()()33 62 &
3 TS IE =1 = L8 530121 ****x%x%0025 62 2
4 | editiE b & 8 53038 **F**KE%] 563 60 e
5 ey IE | S & LS 53033 ***kx%%kx%0603 58.5 v
6 eI AT &304 & 28 530121 **k*kk%%k()()2] 58.5 v
7 |JeddE Xl o S 530121 ****F*%%%(329 57.5 i
8 |JedlsiE Wt Bk I % 530121 ***F**%%(325 57.5 s
9 eI AT PS5 & LS 530121 ****k%k%%]549 57.5 v
10 [JedsfiE Brlbefl i /S 53012 *#*** k%% ()49 57.5 =
11 ekt TR & S N m 56.5 &
12 T IE REM = L8 530121 %k k%) ()2 X 56.5 =
13 |JedsfiE Eayi] & LS 530121 *** k%5002 X 56.5 &
14 [JedsifiE wR—F & 23 53012 **H**xHRE()(2X 56.5 &
15 | e FNEH & % 53012 ] ***EFE% (044 56 &
16 | ehlthiE {77 2 S LS 530121 *****%%%(060 56 &
17 T IE Rk g 5 53050 7**kkx%%k%R%) 655 66.5 =
18 T IE Tk S L8 530325 xkkx%()50X 66.5 =
19 | JedlihiE BB & % 530381 ****k*E%37] | 64.5 &
20 T IE 2] g £°8 53012 7*****%%%3249 63 7=
21 T IE e o L8 530428%**xkkx%]703 63 2
22 | lehihiE e % % 530008 *kHkk*k%(50X 63 v
23 |eyitiE JIZETT & L3 5301 28%* % *K%*D 74X 62.5 o
24 T IE X EER S 5 530326k xkkx%k()Q3T 62 2
25 | TeddiE WRR % % 530300 % * %k HE* ()T 4 61.5 i
26 [JehifriE ENi o % 53012 7% kK EEHE()TIK 61.5 &
27 T T iE BIEZE S 5 530129%***%%kx%0712 61 2
28 | JedltEiE AR & 23 530108 %*kHkEREEYT) | 61 &
29 [JehifriE TR BV 7w 23 53003 (% k% *kk%2304 61 e
30 T IE B S L8 429004 %* ***xx%k%572() 61 2
31 |JedhfriE HKIB AL & 43 37061 2% **k**%%7025 60.5 =
32 |JedifnE ERARH 7 % 53050 7% kKR EER] 435 60 &
33 |JedfnE ESAR I 7 % 53038 ] FH***EE%L] DD 60 &
34 [JediE RIF & LS 5301 28*k*kEk*E*()3DX 60 &
35 JeWETIE 22 75 g 58 53(0129%***#k%kx]12X 59 =
36 | eWfiE BRI o L8 530127 %k xxkx%()723 59 o=
37 |JeditiE R K i % 530326% ¥ ****%%4(35 58.5 %
38 T IE ST g L8 530121 ****H%k%%0048 58.5 =
39 | JedkfriE HAE RS 4 % 5301 28* Kk HHEER()TTS 58.5 i
40 | TeddEiE ¥4 AR % % 53()305% % %% k55 % (94X 58.5 %
41 |JedkitiE GG 7 S 530406%* %% xkk% (608 58.5 74
42 | JedliEiE e KA 5 % 530428 k% xxkx%]535 58.5 i
43 | TeddiE 7N i 23 53050 8% Kk XEEXD ] 46 58 &
44 | eWpTE i o 58 530325 %k x%%%k%()669 58 =
45 | TeidiE g = % 530 ]3*****%%%0520 57.5 7
46 | TeddiE =S % % 530300% %% kHkHE%()70Q 57.5 %
47 | eWpriE TR o 58 53230Q% %k x#%%k%()329 57 =
48 | TedidEiE 53 i 5 530324 %%k xxkx%()375 57 &
49 | JehthiE B = LS 5301 28* k¥ kEx%%()30() 57 &
50 JeWETIE 872 g 5 530304 %%k *#%k%%931X 57 =




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e
o fhiy 2 T U = B 515 _
51 |esifiE K = % §30128*kH*HkEk%]54] 56.5 7
52 |JedifnE Wriz & S 53003 %k %k kE%()7D0 56.5 %
53 |JedfnE 52 - 7 LS 530504 % k% xkEE%] 546 56.5 i
54 |JedfiE P & % 530427 %k *xkE%()()]] 56.5 %
55 [JedldiE RS Epy 7w % 530427 %k %EE%0 136 56.5 5
56 |eWfiE BRI R o L8 530381 ***k*x%x%()303 56.5 o
57 |JeditiE LK % % 530326% ¥ ***EEX36D | 56.5 %
58 |JedifnE FHRE L & S 530302% k%% k%%2720 56.5 %
59 |JedfnE S ki 7 % 53] 20% % ¥ %k 5%%()544 56 %5
60  [JEhiiE AR = LS 530304% k% kkxk%]803 56 &
61  |JehifnE i o % 5301 24% k%% ¥%%0305 56 o
62 | eINAEIE EUTS & 48 530505k xkkx%k()8D 4 55.5 i
63 | JeyhfriE LR & L3 530121 **H*x%E%()(27 55.5 %
64 | EINHTIE gt 7 8 53()300 %%k kKR ]D()3 55.5 7
65  |JedliiE K75 I 3 28 53()325%**kEEEE()366 55.5 7
66 | JEIATIE Bt i -3 530121 % *HkkxR%(343 55 %
67  |JEhifnE WFE o % 53012 **H**EEE()()TS 55 %
68  |JEIfTE 2L 7 % 53] 20%****k%k%0507 55 %5
69 |JeiifEiE X G = e e m 55 Fi
70 |JEdifnE Bl e % 530322 %k kkxH%]3]X 55 %
71 [JeddsiE EISER i LS 530103 %****#kx%0642 55 &
72 | JEdAE EIPAN % 23 53(0]29% k%% k%%]74] 55 &
73 | JedipriE GIS & S 530500 % KKk H*%%]227 55 7
74 | WAIE o5 7 o L8 500127k xk%k%%350() 55 o=
75 | JEdTE {LAGI & 23 510322 %k *%x5k%%]52() 55 &
76 |JedldiE KSR o iy 5301 28* kK H*EER4T4D 54.5 5
77 |JeddsiE R E 7 % 5301 26%****k%%]938 54.5 7
78 | JEdfTiE AR 5E = % 530326% %%+ k%867 54.5 7
79 |JedifnE P o % 53012 *****EE%((2() 54.5 %
80 | IiTIE Wi o L8 530111 *****kx%x%3846 54.5 o=
81 | JeddtriE I & LS 530121 ****kxE%(02 ] 54.5 &
82 | JeyiiE IRIRSF o L3 53030 5% kkHk*HE()TDQ 54.5 %
83 T ETiE J=R2) P L8 530121 ***xk%kx%()087 54 o=
84  |[JehiiiE R = S 53012 ***k4%%% 805 54 %
85  |JeimifiE B & /3 o 54 i
86 | IiTIE %5 = 5 530121 *****%%x%]819 54 o=
87  |JedtiE T w -3 530400 % % k% kE%()§DX 54 7
88 | eyiiE IR o % 530324 % k%% k%%()(26 54 o
89 | IiTIE KB o 5 532426%*kx#kx%0(0] 1 54 o=
90  |[JEhiiE AR & LS 530129%k**k%%%]305 54 %
o1  |JeyhfriE i 7w % 43050 ] *HF*EEEEQTAX 54 i
92 |JEdfiE HEE A 7 S 53350 % ¥k kkKE%()]D0 53.5 i
93 |[JedlitriE XA i % 34023 %****%%%7208 53.5 %
94  |JehifriE AL 7 LS 530326%FF¥*E*%4606 53.5 %
95 |JedfiE TR 7 % 53000 Q% %k % kkk% ]300 53.5 i
96  |JeditriE TRHE % % 53000 @*** kK% 720 53.5 %
97  |JEdifiE ZES] & % 53012 **H**EE%] 305 53 o
98  |JEdfiE X[ P S 53300 %** KRR ()T 6D 53 i
99 |JeiiiE EHHF & % 530326%***k*x%0558 53 &)
100 | JiiftriE FIpE o 58 530425 x%k%kx%]12X 53 =




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

Epre
o fhiy 2 T U = B HIE _
101 | JeddfriE G = LS 530425%k**k%E%()30 | 53 &
102 | ediEiE K i % 53032 *#H**kE%()0Q3 53 o
103 | Jeylisia iR 7 % 53038 ] F***ERER] 504 53 %5
104 | Jediisia RERLIE & 23 530628% Kk *KEE]T6] 53 &
105 | JedisiE 7 i % §3(0]27*k***kE%] 725 53 o
106 | JeyitiiE [ REREA o L8 53250 6% Kk kkkkk] 27 53 =
107 | Jedidsia B it & % 53050 8% kHkH*KEX()Q ]S 53 &
108 | ediiE s i % 530420 % k%% k%% ()23 52.5 %
109 | JeyitiE ELIE o L8 530627 *kkxkk%%]566 52.5 o=
110 | eisiE HEAT 7. & /S 53012 **H***HEE ()62 52.5 %
111 | ediEiE RS = % 530127 ***F**E%%52 16 52.5 %
112 | Jeyitsia Be & i % 53011 ****rs%]12] 52 %5
113 [JedsfE ZEi = L3 53012 F**k%*%(320 52 %
114 | JedisiE 5 & % 53012 ***F**EE%(9 16 52 o
115 | Jeyiisia KEL 7 % 533500k kKEEX)RDD 52 %5
116 | Jeyhisia Ea¥ & 78 530703k kk kA% ] 808 52 &
117 | Jeyiia Wit o % 500203 % ****k%%047() 52 o
118 | ediia & 7 % 530381 ¥EHk**EE%D |56 52 i
119 | Jeyitsia 7k 30 & % 5302 ] F***xEEE()(0D] 51.5 %
120 | JediiE W53 I iy 53012 **Hk**RER] 504 51.5 i
121 | JedmifkiE LI SR & L8 53()] 2] ***EEEEE() (DT 51.5 7
122 | Jeitsia 15 & % 5300 ] F****EF*()048 51.5 %
123 | ediiE J& S & % 53012 **H**xH%] 228 51.5 %
124 | Jeyiisia JRGE S P LS 53012 **HF*E*FE()()62 51.5 i
125 | Jeyiisia e i % 530127k *ERERL503 51.5 %
126 | ediEiE KRR o % 530325 % kH*xk%%()750 51.5 %
127 | JedmifkiE EHIE i LS 532526k xkkx%k()84() 51.5 &
128 [JedsifiE BEZEES w 43 530627 **kH* KT 48 51.5 =
129 | JeyhisiE et & L3 §3012Q% Kk *%*K%D 52K 51.5 5
130 | JeyitiE AT o L8 530509 #kxkk%%3()D7 51.5 o=
131 | Jedidsia WeATHp i % 370829% % ¥k kH%%0537 51.5 %
132 | ediEiE 5K = o % 530328%kHk* %K% ] 64] 51.5 %
133 | JeddiE KRGV A % 530122 % **kExEE2(03 ] 51.5 i
134 | Jeditsia 2w H i % 5301 0Q%*kkEFE4T44 51.5 %
135 | ediiE SRpe & 23 53012 *****EE%()(20 51 %
136 | JeyitiiE A P L8 530121 ****kkx%0(028 51 o=
137 | eddtriE TH & % 530 130%k**k%%%(]309 51 =
138 | ediiE =S i S 530121 %****%%% (060 51 i
139 | JeyitiiE B By = L8 530121 ****#kx%008] 51 o=
140 | Jediisia (ZLkea % 23 §30626% *FEEHEEDTI 51 %
141 | ediEiE iR o % 530111 **H**xk%k380X 51 o
142 | JeyitiE [iEe o 5 530205 #kxkk%%()()39 51 o=
143 | JeditsiE iR A i 23 530423 % 5% %555 () 04X 51 %
144 | ediEiE FEEE 7w % 533000 % kk*xkE%] 503 51 o
145 | JeygitiiE A0 5 o L8 530181 ****%%k%%262() 51 o=
146 [JedlfEiE ERE & 43 411320 %% xk%%%3420 51 %
147 | ediEiE B/ 7 23 530424% k%% k5% 6D | 51 %
148 | JeygitiiE R o 5 530111 ******%%3814 51 o=
149 [JedifiE PR & % 530181 *F**k*kxk%30] ] 51 &
150 | JeyhisiE Bimth % % 530]29% k**%k%%]33] 51 o




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I HPERT _
151 | eddtniE KA & % 530 126*k* k%% ]7]5 51 %
152 | JediitiE LT = £°8 530121 ****Ex%%002() 50.5 =
153 | JeyitiE Kk = L8 53()] 2] %k kkk() ()47 50.5 =
154 | ediiE XUPEE i % 53012 **HkHxrkn]g]] 50.5 %
155 | JeyiitiE Bk = £°8 53012 ] ****Hk%%k(328 50.5 =
156 | JeygitiiE gk o L8 530125k **%k%%02405 50.5 o
157 | ediiE R & /S 53030 7% kkHHREE()3DQ 50.5 %
158 | JediiE REM & % 53032 ***E**EEX()9D 6 50.5 %
159 | Jeyiisia JE 0T AR A LS 53(0302% ¥ ***5%%0 44 50.5 i
160 | JeyiisiE FHIR & % 53012 ] F***ERE(3D ] 50.5 %
161 | JeyitiE A o £°8 532130k xkk%%k()] 67 50.5 =
162 | JeyitiE Wl o L8 530130%**xkkx%()502 50.5 o=
163 | Jeyiisia e & % 530306% ¥ % *EFEX()]D() 50.5 %
164 | JeiEiE Nz 7 % 530302%* %% k%%()()55 50.5 %
165 | JeyitiiE ey o L8 530326%***#kx%()80Q 50.5 o=
166 [ JE3lfE Y w 43 53050 5% *kkH k%D (DX 50.5 =
167 | JeyiitiE ZR IR o £°8 53233 k*kxEx%%0 606 50.5 =
168 | JeyitiiE MR T = 5 530121 ****%%%x%0032 50 o=
169  [JedsfiE T = L3 530302% % k% k%] 74X 50 %
170 | JeiittriE B g 5 530324 %k x%%k%%2158 50 =
171 | JediisiE IR E} A % 530500% %%k kk%%] 54 50 %5
172 | Jedidsia KA HE & 23 530322 % k%% k%] 064 50 &
173 | JedifiE At i % §3()] [ 2% **kEEEE() (]9 50 Ei
174 | JeddfiiE NG S 4 28 411481 ****¥%%%2446 50 &
175 | Jeyhisia AL % % 530326% F**xEFEL4G] 50 7
176 | JediitiE PRAR B g 5 530121 ***k**%xx%0015 50 =
177 | JeyitiE RS = L8 530121 ****#kx%002] 49.5 o=
178 | Jedlissia RSz & % 53012 F***EFE%(326 49.5 &
179 | ediEiE B P % 53012 *****EE%(62() 49.5 %
180 | JeyiitiiE ey o 5 530323 #kxkk%%()T7Q 49.5 i
181 [JedlifiE I w -3 530125%**k%x%k%007] 49.5 &
182 | ediia EFS e S 530302% %% %% k%% (644 49.5 %
183 | JeyitiE Fo e EY o L8 53042 5% %k *kx%%k()520 49.5 =S
184 | Jetssia JE A % 23 5301 08%* %k kH%%()T4() 49.5 &
185 | Jeyhisia A & LS §30126%kH*xkERDT4T 49.5 o
186 | Juyhisia PIbeLE 7 LS 533000 % ¥k *EFE%D()2() 49.5 i
187 | eddfriE LF5 5 = % 530328%****%%x%3308 49.5 &)
188 | JeyiitriE X 8K g 5 53000 5%*kkxkk%kx]119 49.5 =
189 | JeyitiiE FHE - o L8 530381 ***k*kkx%2304 49.5 o=
190 | eddfiriE TR E & L3 §30125%***k45% 728 49.5 &)
191 | JediEiE 2 o 23 53070 4%k H*EEXDT43 49.5 o
192 | Jeyitsia IR 7 S 530120% k¥ *kk%%057() 49.5 i
193 [JedsifiE &0 = -3 53012 #**k**%£%(929 49.5 &
194 | JediEiE ARl P % o 49 o
195 | Jeyiisia GRINT. & B 53012 ***F*xRE%(]5] 49 i
196 | JedifhiE 2 ikt = S 530121 *****k+%]248 49 %
197 | JedifiE x| A& e B % 53012 F***EEER]307 49 7
198 | Jeiisia TR & % 53012 ] F***kk%%((037 49 %5
199 | JedifhiE Al & S 5301 28*kHkEk%%4]46 49 %
200 |JeyhtriE 1% o % 530326%* k% k%%0510 49 o




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I B BHER T _
201 | JedidiiE AR A B S 5301 24% ¥+ ¥ %%%%((25 49 %
202 |JedhtiE X = % 53003 (% k% xk%%()()24 49 o
203 | JeditiE EHAFH o L8 533024 %% xk%k%%4500 49 o
204 |JeiiE st a & 530120%**#*##%1306 49 7
205 | eIk IE € i /3 530129% ¥ **%%%%(72() 49 i
206 | JedgitiE MRER o L8 530129 %#kxk%k%%2007 49 o
207 [JedAE W 5 w -3 530326%** % %%%] 744 49 %
208 |JedhtriE W= 55 i 23 53012 *****EE%((2() 49 o
209 | JedgitiE k¥ % o L8 530381 ***k*k%kx%3503 49 o=
210 [JedsfE RIEZ & -3 500403k H Kk H*E%§300 48.5 &
211 |Jedhtria = & 23 53012 ****xkE%()()82 48.5 o
212 JedidriE F etk & z §3()] 2] ***EEEEE (04X 48.5 7
213 | JeditiE WREA & % 53] 2] * %% k% (094X 48.5 &
214 |JeyhtiE E3v3id & % 530323 % kH**kE%()T 64 48.5 %
215 | JedgstiE HE o L8 530723 % kkxkkx%3348 48.5 o=
216 [JedfE - E M w % 530 128% kK **E%557) 48.5 &
217 |JedhtiE IR 7 % 53012 **F**REX(()] 4 48.5 i
218 | JedmAiE AEVKH i LS 530626% ¥ **EEEXDTDS 48 i
219 [JedfE JERRIR & L3 530121 **H*%%%(320 48 %
220 |JeyhtiE 2y & % 53012 *****EE%((]() 48 o
221 | edAiE T i % 53012 ] ****EFE%] 820 48 %5
222 | eidEiE XAy i S 53011 ****%%%%(0020 48 %5
223 |JedhtiE T o % 239005%* k¥ %¥%3]116 48 o
224 | JeditiE Bk By o L8 533022k xxkx%3]45 48 o=
225 | edidiiE TEB B S 53012 ****%%%%(004 ] 48 %
226 |JeyhtiE TR 7w % 5301 3%k **k%k%40]7 48 o
227 | EIAIE e — = 5 53000 ] *****¥k%%(()] X 48 7
228 | JediisiE B HRA i 23 530093 %k kksH* ] 74X 48 &
229 |JedhtiE 5K [ 2 & % 530120 % Kk EEEED4DK 48 o
230 | JedmAiE L 4 % 53(0]25%k**kHkE%] 725 48 %5
231 | eidiiE e & S §30]27%F*¥%%%%3560 48 %
232 |JedhtiE S o 23 530502 % k% *EE* ()94 48 o
233 | edmAiE LZ SN 4 % 530627k **kHEER] 23 48 %5
234 | ediiiE TR B S 53011 *****k+%6708 48 %
235 JedifiE R = S 53] ] [ ****E55%0667 47.5 T
236 | uIAIE K F A P % 53012 F***EFEX(026 47.5 i
237 |JeddE Gl & -3 53012 F**H*x%%]320 47.5 &
238 | JediiiE KA = 58 530121 ****%kxx%0026 47.5 =
239 | JedgitiE Eil = L8 530121 ****%%kx%0024 47.5 o=
240 |JediiEiE SRS & 23 53] ] F****EE()9DD 47.5 &
241 | JedisiE Vs o LS 53(0]28%****kk%2704 47.5 o
242 Jedi g LN i 5 330781 *#*k*kxE%()D X 47.5 o
243 | eiEIE A & % 53032 **H**EEX()()3Q 47.5 &
244 |JeyhtiE bli £ o 23 530326% %% *¥%%4200 47.5 o
245 | JeIAIE LIE=ES 4 S 53300 3%k kkHE%] 747 47.5 i
246 | edifiE G £ 7 53(0328% ¥ **EFE*()62() 47.5 7
247 |JedifEiE KIS o F 530121 ****%*x%1814 47.5 i
248 |JeyhtiE R 7 % 53011 ****kk%%]]14 47.5 i
249 [JedfiE JFEM = 43 §11620%**k*xk%g6D | 47.5 &
250 | JedistiE R o 5 530103 ****xkkx]5]7 47.5 =




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I B BHER T _
251 | JedidsiE A 8 & % §30624% Kk E % KKK 5] X 47.5 &
252 |JedhtiE TFRER & % 53010 *****EEX5(042 47.5 %
253 | JedstiE B o L8 53350 5% ks kk k() ()82 47.5 =
254 [JedlfE 07 Wt & # 53050 5%k kHH*HE%()()D ] 47.5 %
255 | JeyhtiE TR = 23 5301 28*kHkH***%3508 47.5 o
256 | uImAIE HER D) P % 53012 ] F***ERER] 520 47 i
257 | editriE PR S L3 513002%****%5%7665 47 &)
258 | JedhtiE B P % 53012 **H**k%%((043 47 o
259 | JeditiE R FR = L8 530121 ****k%kx%0024 47 o=
260 | ediiiE BRI = S 53012 ****%k%% 506 47 %
261 | JedhtiE pUE==ic & % 5300()] *****kk%0467 47 o
262 | JeditiE 25 o L8 530530k xkkx%]20] 47 o=
263 | ediiiE U i S §30324%F#k%%%%(02X 47 %5
264 |JeddriE JARE 7 5 53] 2] ***kEEEE()(] 3 47 Ei
265 | JeyhtiE PR A % 36253 ] *EHkHHEER()()3 47 %
266 | ediiE VI B 7 5301 28*kHkE%%%()034 47 %
267 | JeyhtiE P o % 530322 %k**%k%k%2830 47 o
268 | JeddEriE -4 = B 53012 ] ****ERER(()]T 47 7
269 | edidiiE el & 7 §30]28*k*kxk+%()358 47 %
270 |JedhtiE T o 23 53] 27 %k **xk%%()()22 47 o
271 | JeditiE B = 5 530121 ***xkkx%0(03X 46.5 i
272 |JedAE {4 & -3 53012 F**H**%%(924 46.5 &
273 | JedhtiE p P % 53012 **H**EE%] 545 46.5 %
274 | JeditiE Ak = L8 530121 ****kkx%k0046 46.5 o=
275 | edifriE K 7 8 530706% ¥ **KEEEDAIX 46.5 7
276 | JeihtiE 50 o 23 53030 **HEE*EER()()DS 46.5 o
277 | JediTIE % ke o L8 530128**kxkkx%4503 46.5 o=
278 | JedfE AR w -3 530305k kkkx%%()303 46.5 &
279 |JeyhtiE Wik o 23 53012 **H**xH%] 2K 46.5 o
280 | eI AIE L= 7 LS 530604% ¥ ¥ *EFE%]326 46.5 i
281 | JedidiE HKAKH % % 53(0305% %%k H%%()T47 46.5 &
282 |JedhtiE SRIE T & 23 53012 *****EE%((26 46 o
283 | JeditiE TR P 5 530181 *****%%x%0673 46 o=
284 | edidiiE L = S 530121 ****4%%%(305 46 %
285 | JedhtiriE Tk & 23 5301 1 2%k **k%%(50] 46 o
286 | I AIE il 4 LS 53050 6% ¥k *EFEXD 64 46 i
287 | edifiiE (24 B S 53038 **#Hk%kx% 20X 46 %
288 | JeyhtriE FER 7w 23 530111 *****kk%4]27 46 o
289 | JedgitiE RS o L8 350105%***%%%%]58x 46 o=
290 | JeditriE PRt = % 530304% k% kEx%%(0] 46 %
291 |JedifiE T 7 L8 53018 ***EkEERD6D ] 46 Ei
292 | JedgitiE FHaHE o L8 532070 5% %k kskkk] 123 46 =S
293 | edifiiE ZEEs] & S 530]20%¥#k%%%%2527 46 %
294 |JeyhtiE R o 23 5301 13*****k%%(g67T 46 o
295 | JedgitiE 2N 0 o L8 53011 ] ******x%%3849 46 o=
296 | ediiiE ZL & 7 530121 ****%%%%(0030 46 %
297 | JedisiE ZR i o 58 53011 2****%*%%2390 45.5 =
298 | JedgitiE kAT H o L8 530429 % % xkkx%250] 45.5 o=
299 | JedidEiE LS i % 53038 **H**EE%205() 45.5 &
300 | JedisiE = = 58 530121 ****%*xx%008] 45.5 =




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I B BHER T _
301 |[JedfiE RAEH S S 370881 ****#x%%2024 45.5 &
302 | JedistiE TR g % 532726%kkxkkx%()(45 45.5 o
303 | edmAiE ok 1 A % 53050 5% k% kkH%%] 530 45.5 i
304 | JeAIE Rt = % 53050 F**HkE*EE()GDD 45.5 %
305 |JedhtiE SO B & % 532300% % kH %K% %()56X 45.5 i
306 | JedgitiE &S o 5 530121 ****#kx%00] ] 45.5 =
307 | JeAIE e i = -3 530303k HHkkHE%()308 45.5 &
308 |JedhfiE FIRA i 23 R m 45 o
309 | JeditiE FR 73 M1l o 5 530328 ***x*k%x%x%333] 45 o=
310 | edidiiiE {5 et & 7 530428% ¥ #k4k4%33() 45 %
311 |[Jedltia VLR & S §30506% ¥ * k% *%%3849 45 %
312 | edmfiE WREERS 7 % 53012 ] F****EEE()042 45 %5
313 | edifiiE et Bt B S 530323% k4 k4%%%] 166 45 %
314 |JedhtriE &S o 23 530424 % k%% %k%%] 420 45 o
315 | JedstiE K77 o L8 530620k xHkx%()563 45 o=
316 | ikiE 2 e ik & iy 53011 3%**Hk%xk%4644 45 &
317 |Jedhtria X% R L 530903k % k%K% %(9TX 45 i
318 | JedmfiE JE 1 7 % §3(0328%****x%%()92X 45 i
319 | JedmfiE WALE & 23 530111 ****%k%5%(420) 45 &
320 |JedhtiE ES )4 o % 530]102% %k **k%k%] 816 45 o
321 | JedstiE A o L8 532306% *kxkx%%K()G20 45 =S
322 | JeddiiE B2 & S 5335054 K4k xkx%] (22 45 %
323 |JedhtiE AL & % 53032 *kk*xEER]3]7 45 %
324 JedidriE | £ B 530121 ****ERE%((0]3 45 7
325 | eddidiiE L = S 53012 ****%%%% 546 45 %
326 |JedhtiE {0 & 23 5302 **H*kxk%]§DQ 45 o
327 |JedhiiE FEAR T 7 % 53322 %kH*H k%] 95() 44.5 i
328 | JeiIE A w -3 530803k kkH k%] {2X 44.5 %
329 |JedhtiE [Z)ssun & % 530325% k% xk%k%011() 44.5 %
330 | edmAiE FEE 7 % 530]20% ¥ **kk%%]326 44.5 i
331 |Jedidiia T = L3 §30125% Kk % xkE%()TD() 44.5 7
332 |JedhfiE FERIEK 7w 23 530127 %k ***k%k%3507 44.5 o
333 | edAiE EPIES 7 % 53(0]20%***k%%%232() 44.5 i
334 | ediiniE Al B S 53038 ¥F*k4%%434] 44.5 &
335 |JedhfiE P 7w 23 53018 ****xk%%]gD() 44.5 o
336 | mImAIE IR S a % 530306% k¥ *EFE%()]30 44.5 &
337 | eddiiE ik B S 5301 27%F*k%%%% 726 44.5 &
338 |JedhfiE 2 & 23 53012 **H***5% (648 44.5 o
339 | edmAiE FegN P LS 53012 ] F****EE%(368 44.5 i
340 | JeddidiiE TR = S 53012 ****%%%%(002 ] 44.5 &
341 |JedhtiE R & % 53012 ***F**EEX (656 44.5 o
342 | JedgitiE ENvSE P 5 530121 ***xkkx%]557 445 i
343 | eddidiiE SRR B S 530626% %k xkx%(922 44 %
344 |JedhtiE JE A o % 53000 4% Kk %% k%% ] 505 44 o
345 | eImAiE Z =l 7 % 530 100%**xkk%%()32 ] 44 i
346 | ebddiiE H 3G B S 53011 *****%%%380] 44 %5
347 |JedhtiE AR o % 530]125% %% ¥%%(866 44 o
348 | JedmAiE S EEL 4 S 53040 ] ****EFE%0320 44 i
349 | eddidiiE A B S 530300% %k xkx%()72D 44 %
350 |JedhtiE FME o % 53012 7%k ** k%3563 44 o




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I B BHER T _
351 | JeddiniE FK RN 134 & S 53030 8% kHkEEE%()(2 ] 44 %
352 |JedhsiE BIKTR = 23 530111 *****#%%7040) 44 o
353 | edmAiE XIFH a % 53011 *****%%%201] ] 44 %5
354 | JeddiiiE e i i 5 530103%***%%%%293() 44 &
355 |JedhtiE BRI i % 530326% *H* % k%3833 44 o
356 | JeditiE = A = L8 530121 ***xkkx%064X 44 o
357 | edihiE TR & L3 530121 ***#kxk%(002X 44 &)
358 | JediiiE TR e g ] 530325% %k xx%k%k%()956 43.5 =
359 | edmAiE 5K I Fi L 53012 **F*%*FE())5X 43.5 i
360 | JeiiE M= w % 53011 3% **Hk**%%]912 43.5 &
361 | JuImAiE 2l 7 23 530126+ F*HEFFR066X 43.5 7
362 | uIAIE A 7 % 53012 ] F****kE%((03X 43.5 i
363 | JeAIE Ji w % 530381 F**Hk**¥%3338 43.5 &
364 | JediiiE FEWag i o % 530128****#%%%()945 43.5 =
365 | JedidiE Py £ % 53012 ] F****EEX(04 ] 43.5 7
366 | JEAIE Wi s 43 530121 F**k*xk%(04] 43.5 &
367 |JedhtiE TEHE 7 S 530126% %% ¥5%((26 43 %
368 | uIAIE FAR A % 530605% k¥ *kKE%] 500 43 %5
369 | JeddiiiE i B S 5301 28*kHkEE%%550() 43 %
370 |JedhtiE KR o 23 530324% k%% ¥%%0365 43 o
371 | edAIE JE DU A % 530123 %k *EFE%D530 43 i
372 | JeAIE JEVKET w -3 53(0]29% k%% %k%%((26 43 %
373 |JedhtiE 3773 o 23 53038 **H**EE%(9D() 43 o
374 | JediiE TR B o L8 53()] 28 %k *kk k% ()90 4 43 o
375 | edidiiE s & S 53003 | ¥4 kkk4% ]300 43 %
376 |JedhfiE RS & 23 53012 **H**EE%] 505 43 o
377 | JediiE = P L8 530121 ****kkx%0041] 43 o=
378 | edihiE SRINER & L3 530121 ****ExE%(0606 43 &)
379 |JediEiE ESSN 7 5 5301 30***kEEER]5]5 42.5 Ei
380 | JeditiE = o L8 530381 ****H%k%%()9()() 42.5 o=
381 | JeiiE (ER w -3 530305k *kE*E%D ()28 42.5 &
382 |JedifiE Ja = 7 28 §3()]27***kEERR3D04 42.5 T
383 | JeditiE B IR o L8 530707 %%k xkkx%()9DX 42.5 o=
384 | JudmAiE s iLh & 23 53012 F***EFEX] 826 42.5 &
385 |JedhtiE (A ER 7w % 53018 **H**kk%]g]3 42 o
386 | uImAIE et 4 % 5301 ]*****5%%]433 42 i
387 | eddidiiE fHgk B S 530103%*%*%%%% 845 42 %
388 | JudfiE 15 & % 53012 *****EE*()()37T 42 &
389 |JeyktiE EER 7 8 530103 %% **%%%(325 42 5
390 | JeddidiiE (& & S 530121 ****%%%%(026 42 %
391 |JedhtriE (RPN 7w % 53003 (% k% xkk%]734 42 o
392 | JeditiE Bk AH: PR o L8 533503 %k xkkx%D048Q 42 o=
393 | JedAiE GoAiata % 23 53032 ] %% *kE% (943 42 &
394 | JEAIE 5K A i /3 53012 ****xkk%]384 42 i
395 | JedgitiE ARk o L8 53020 ] *#*xkkx%kg3DT 41.5 o=
396 | JEAIE A = 43 510320 %**kkk5%] 520 41.5 &
397 | EikIE BRI 7w /3 5330025%**kH*E%36D7 41.5 7
398 | JeditiE B i o L8 530381 ****#kx%()9DQ 41.5 o=
399 | JeiiIE ERIH & 43 53012 #**k**%%((29 41.5 &
400 | JedifiE s A = 28 53] 2] ****EEER)0S6 41.5 T




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

rE | T A I HPERT _
401 | JeditsiE BXE & % 53012 **F**EEE(3]5 41.5 &
402 | eiEIE BB i % 53028 % ****k%k%4830 41 o
403 | JeyitiE AR o 5 53262 7%k kxx%k%x%35]6 41 o
404 | TeiEiE BT F 7 530325 %k *kkk%] 307 41 7
405 | ediEiE FER e % 530324 % k%% 5%%()(96 41 o
406 | JeyitTiE Ve o L8 530121 ****kkx%0(028 41 o
407  |JeddE 5K = 43 §30704% ¥k kHHE% ()87 41 %
408 | JeyiiiE KFHH i S 53012 **H**EE%()0DS 41 &
409 | JeyitiE 2 = 5 530121 *****%%x%(336 41 o=
410 | JeddidiiE g = % 530121 ****%%%%(3]6 41 %
411 | ediEiE LR o 23 5301 22%kHk*kx5%] 30X 40.5 o
412 |JeyitsiE e e = 5 53012 ] F***xEEE(()]2 40.5 7
413 | JediisiE % S & % 530324 % k% %k%%()()] 4 40.5 &
414 | eiEiE i o % 53012 **H**EEX()()35 40.5 o
415 | JedgdiiE W% 5 48 530505k xkk%%]500 40.5 i
416 | JeyitsiE I G & 23 R nm 40.5 &
417 | eiEiE SRt = 23 53012 *****EE%(320 40.5 o
418 | JedmifkiE REAHE i LS 530326%**x#kx%3]4X 40.5 &
419 | JeditsiE THAZE & % 530326% %% %k%%2314 40.5 &
420 | JedidEiE PPy b s 53012 F***ERER] 267 40.5 &
421 | JedmifEiE BHERE = z 53070 5%k k k] 540 40 7
422 | ediiiE PIEER & 7 53038 #¥**%%%55]6 40 %
423 | eiEIE A & % 53012 **H***H%()(28 40 o
424 | JeyitiE [P o L8 530421 ****kx%%k()726 40 =S
425 | JedidiE KGR % 23 53007 6% k%% k%%()72 () 40 &
426 | eiEIE B ifplée P % 530121 % ****%%%]1219 40 %
427 | JediiEiE il 1L i % 53012 ] F***kkE%]8]3 40 %5
428 | JeyiiiE 2 [k % % 53011 ]*F***xk%%]]108 39.5 %
429 | eiEiE e SCE & % 53012 **HF***E%()()58 39 %
430 |JeyitEiE et 7 % 53011 2%****k%%0(2 39 %5
431 | JedifiE PSS & % 53012 ****xEER(()3T 39 7
432 |JeyiiEiE 1S & % 53011 ] F***ERE%(04]2 38.5 5
433 | JediiEiE 2ERAT = z 53()] [ 2***kEEEE()5DQ 38.5 7
434 | editiE PRt 7 7 53011 3%***k5%%]140 38.5 7
435 | JeyiiiE AT o 5 530302 % ***k%k%%273() 38.5 =
436 | JeyitiE Z RN o L8 530321 ***xkkx%() (42 38 o=
437 | JediiEiE P % 23 5301 13%***%k%%(32() 38 &
438 [JedlfEiE filkisld 7w % §30125% %k **%%3127 38 i
439 | eyitiE I7E S o 5 530122%****%%%3214 38 o=
440 | JeyitiE RIS i 23 53] 25% k%% kK% TQY 38 &
441 | JeditiE ERP 7 5 53(0326%***EEK%4D] 6 38 Ei
442 | eyitiE DL o 5 530381 ***xkkx%()734 38 o=
443 | JeditEiE (1S4 % % 53(0]28% ¥ **kH*E%DT]3 37.5 %
444 | JpigitriE JENHEE g L8 5301 1] *****k%%3828 37.5 =
445 | JeyitiE TR o L8 53()]2 ] **kskxsk®]50) 37 o
446  |JeIfE JE /Nl s L3 530121 **H*x%%()(27 37 %
447 | eiEIE il A o % 530326%*k**kk%5]26 36.5 %
448 | JeyitiE XI| = o 5 530325k kxkk%%()] 96 36.5 i
449 | JeditEiE P % % 530300 %**kEkHER ()T T 36.5 %
450 | JedfEiE Wi & L8 530121 **FxEk%%006] 36.5 o




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I HPERT _
451 | JeditiE 5k T & 23 §3050Q% k%% kE%()§D S 36 &
452 | JeyiiEiE TG & LS 53038 **H**kE()94] 36 o
453 | JeyitiE &S o L8 532126% ¥k *x%x%()503 36 o
454 | eiEIE S & % 5301 08% kK *KE% ()]3S 36 &
455 | JeyiiEiE CREVE! & LS 53062 7% kK H*HE] 728 36 o
456 | JedmtEiE BNFE i 5 533024 % #*xk%k%%4()39 35.5 o
457 | JediiEIE PRI & % 53000 5k *k k%% 5]7 35.5 %
458 | JeiiitiE T g % 530128 **kxk*k%%1]362 35 =
459 | JeyitEiE ok 7 LS 53033 ****EF£%00(0 34.5 i
460 | edliiiE Bz & 7 530121 *****%+%(032 34.5 &
461 | eiEiE N o % 530130% k¥ *EE%()5]6 34.5 %
462 | JeyitiE Reth o 5 530121 ***xk%k%%0(0]9 34.5 i
463 | eiEIE B R & 23 §33004% K k% %KEED]D] 34 %
464 | TeiEIE L& = % 530308 %Kk Hx k% ()()24 34 o
465 | JeyitiE KM = 5 530121 *¥****%%x%0076 34 o=
466 | JEIAEIE H % 23 5301 28% kHH%KKE)34R 33 &
467 | JeyiiEiE M= & L3 530500k kEEERD 2D 31.5 %
468 | JedmtEiE DL i LS 530129%***%%k%%2303 30.5 &
469 | JeIitIE TEM & % 53012 **HF**REE(3]8 29.5 &
470 | eiEiE IR o % 530113 %*F**x5%]6]X 28.5 o
471 | JeyiiEiE TR a L8 530405% k% xkk%] 128 55 5
472 | JeddEiE ZIT Al % 23 530 124%**k%x5%262() s &
473 | JedtIE P 7 % 5301 28***HEEER()TDS i 7
474 | JedgdEiE ZYERH 4 % 53000 6* ¥ **kk%%]5]0 i & &
475 | JeddEiE KR & % 530326%**HkExk%4()72 s &
476 | eiEIE Wik VN 7w % §304020% %%k %%%%()3] 4 TR 5
477 | JediiEIE EN a L8 53350 k*kxxEE%)]0Q 55 5
478 | JedfEiE ¥ & 23 53030 8% *kkkxE%] 304 s &
479 | eiEIE PHEAE 7w % 530623 % kKRR ER] T3] ez 7
480 | JeddiE J7 1 5 28 530322 %k xHk%k%()T44 i & &
481 | JediiE XIHEEK & 43 53(328%* Kk E*E%())69 s &
482 | JeyiiEiE S UNIA'E! & -3 530129% *H*%x5%] 36X TR &
483 | ediEiE H 7 & % 530325 %k Hkkk% ]335 R 5
484 | JedlfiriE 7k X £ 53 5301 24% Kk %xkE%]5]4 & =
485 | JeyiiiE R & % 53070 4% k% xkE%] 214 ) %
486 | eiEiE WEKR & 23 530602%* k%% k%% 667 R 5
487  |JedifEiE g & 23 53003 F*kkik%] |47 s &
488 | JeyhisiE S o -3 53050 4% k% xKEEE(ED | ) %
489 | eiEiE P i) 23 533500 % kkk kA% ] 240 R 5
490  [JedfEiE BHH & 43 530301 ***k%*E%2399 s &
491 | ediEiE RIS o L3 530627 %k *xk%k%]12() ez 7
492 | JedmifEiE WLiig 4 8 53000 6% ¥k *kkE%]34] ik &
493 [JedfEiE B & % 530424 %% xHkExk%()()] ] s &
494 | JeyiiEiE YRS % B 530121 % ****%%%(0]9 ) %
495 | eTE JE AL = L8 530328* ¥k **x%k%%0466 iz S
496  |JedfEE Mot & 23 53350k skkxRE (4D | s &
497 | JeditIE & UE 7 L3 533500 %%k kEEERD 663 i 7
498 | JedmitEiE KA 4 % 530628% ¥ ** k%% ] 9] X ik &
499 | JediiE G Sl & 43 5301 ]%***k%x%k%]729 s &
500 (JedsfTiE KA 7w 23 530381 % **F**%%()560 TR 5




20214 F B~ FA BT 201 X TR X TAEH LT ANA TR AT
RS NN 4 5 Cesidng)

e | s T A I HPERT _
01 | s e o 1 5300274k REEEE)T2E B =
502 | JediE BHETR & L3 530324% %% xk%k%%()()25 R &
503 | JedmfriE EE o L8 530425%%*x%k%k%%((2 ] iz S
504 | IiEE T Al & L8 53()326%**kEEFE4GD S e i
505 [JedsfTiE W & = % 53012 **Hk**EE*]3]5 k5 5
506 |JedmfriE T EF o L8 53003 #**xkk%x%]308 iz S
507 |JudliE AT 4 @ 1 5303025+ HEEEE {827 i %
508 JedsfTiE ati=s = % 53012 ****xEE%((]() k5 5
509 JedsfTiE K5 & 23 53] 28* *Hk*H*k%450) RS 5
510 el S @ 1 5301 QkEHEEEEE2520 i %
511 (JedhiifriE HEY 7 5 53280 ***kkkkE)T]() 455 7
512 |JedmsriE X o L8 530121 ****%%%x%0022 iz S
513 | hkiiE BRI & 5 533000k xkkEE43]X s e
514 [Jeddrig B i 28 5301 28% Kk **EEXDT6() i 7
515 (JedssriE S i) 23 530]102% k% *k%%] 167 RS 5
516 | diiE g & r 53()] 03 ****EEEETTDS i =
517 | e A 7w 23 530425 % k**xk%%()507 ) %
518  [JedsifiE gt 7 % 530003 %Kk *%KK%D4()2 R &
519 |Jesi K 75 P 530120%kxxEE%537 e o
520 | JedidiE PN o % 5301 13%**xk%%%(329 R &
521 JedssriE ESap & % 530324 % k5% % k%% 735 R &
522 | et W/ & 58 53033 *HkEHEKEX)GAS s i
523 | fesmiin Rl @ 1 53300 ] *HEFEEEEI[2X e 7
524 | JedmsriE 2 o L8 530128*kkxk%kx%0708 e S
525 | IdEE 5 O & % 53000 6% %k kR E()()] 4 i =
526 | s == a5 I 612729% %5 555273 s 75
527 | ediAETE ESS'q o 58 530023 **kxkk%k%()9D4 s g
528 | IiEE 2= & i 53()40 | ***kHkHEEE()TD() i =
529 |JedidEiE T 7 e 5391 DQ**KKEREE)I5)A i 7
530 |JedgdriE IR 4 8 530425% ¥ **kK%%()920 ik &
531 | JedifiiE EAHE g r 530622k *kxHkkx%2508 ks o
532 | g 5 & % 5301285 HFEEERE3020 s a5
533 [JedisiE B & % 53000 **HF**EFE((06] R &
534 | IidEE 7 H & r 53060 | ** k%] 40X i o
535 JedsfTiE il 7w % 53038 **HH**H%] 7] k5 5
536 |JudifTiE ESIIRZS & 23 53038 **Hk**EE%300() R 5
537 | IdEE A & r 53()404% %k HkHEEE [ 4D] i o
538 JedifTiE T o L3 530623 %k *xEE%] 160 k5 5
539 [JedifriE JA & % 530700 %Kk HHEER()D ] T R 5
540 | JpddsiE Sedir 7 1 53010 HEEEEEEE0020 i %
541 JeddEriE TR 7 S 53()326%**RFFEXL64 ] i 7
542 JeddEriE ENS 4 8 §30304% %% EFE%()(20 ik &
543 [JpddsiE 5k @ 1 5303284 EEEEE)E20 i %
544 | JeddiE RS % % 530122 % k% xkkE%3] ] ) %
545 | JedmsriE WA = L8 530126%****x*%%%(446 iz S
546 | INAEE LIpEZLT & x 53()] 8] ****EEEE30D73 i o
547 | eikEiE F i 5 T —— s @
548 | JeddiE BHY 7 23 530]29% k%% ¥%%(326 T &
549 | mIkiETE FH 4B % S 530325 % k%% %k%%] 149 & =
550 |JudiE B i % S3011 1%+ EREE 434 s 7




20214F = B4 I 201 X T HRA X TAE#E LHFAA B IR AT
RS NN 4 5 Cesidng)

| T A I N _
ss1 el LB B 1 530121 %+ EEEEER] 540 i i
552 | s ESCIE B 1 530121 +*+FEER20640 s @
553 | el H 2 I 30004k R EE {524 e a5
554 [JplsE A B 1 30121 %HEEEEEEQ026 i i
555 | e B i L3 53012 F***EEE%(3D5 455 &
556 | IkiiE it & 28 530121 *****%%xx]264 it & e
557 |JeddtriE TR 45 fi & 8 53012 **H*%xHEE (D] i 7
558 | Jpdhfis st B P S30121#FEERER00] | s 7
559 | JeddiE 2 REN i 23 53012 **H***H%] 520 T 7




